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QUESTION 1

When a subscriber is connected over 3GPP access and is in a local breakout scenario, which interface is used by the
PGW for sending downlink data traffic for inbound roaming subscribers? 

A. S12 

B. S10 

C. S5 

D. S8 

E. S2a 

Correct Answer: C 

 

QUESTION 2

In which two ways is P-CSCF discovered by the Voice over LTE IMS client? (Choose two.) 

A. Retrieve the list of P-CSCF information that is stored locally on the IMS client. 

B. Obtain P-CSCF information from other registered IMS clients. 

C. Retrieve the list of P-CSCF information from the Mobility Management Entity. 

D. Obtain P-CSCF information in the protocol configuration options during bearer context activation. 

E. Obtain P-CSCF information from the Telephony Application Server during IMS registration. 

Correct Answer: AD 

 

QUESTION 3

Which two nodes exchange the create indirect data tunnel request during LTE to UMTS handover? (Choose two.) 

A. source MME to target SGW 

B. source MME to target SGSN 

C. target SGSN to target SGW 

D. source MME to source SGW 

Correct Answer: CD 

 

QUESTION 4
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Which function does the Cisco Serving Gateway perform in a basic EPC network? 

A. The SGW is responsible for authentication of the subscribers connecting to EPC network. 

B. The SGW is a termination point in the network for Internet access. 

C. The SGW forwards data packets from subscribers toward the PDN gateway. 

D. The SGW is responsible for assigning the IP address to the subscriber. 

Correct Answer: C 

 

QUESTION 5

You are configuring the Cisco ASR 5000 Serving Gateway. You want to configure a reference point between the
eNodeB and the SGW for the user plane and inter-eNodeB path switching during handover. Which option describes
where the interface IP address associates? 

A. The address associates to the SGW service. 

B. The address associates to the GTPU service. 

C. The address associates to the EGTP service. 

D. The address associates to the S1U service. 

Correct Answer: B 
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